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The answers are given below: 

 

 

1. 26 × 5 is the same as: 
 

26 × 10= 260 halved 
 

260 ÷ 2 = 130 
 
 

5. 65 × 5 is the same as: 
 

65 × 10 = 650 halved 
 

650 ÷ 2 = 325 
 

2. 84 × 5 is the same as: 
 

84 × 10 = 840 halved 
 

840 ÷ 2 = 420 
 

 
 

6. 33 × 5 is the same as: 
 

33 × 10 = 330 halved 
 

330 ÷ 2 = 165 
 
 

3. 77 × 5 is the same as: 
 

77 × 10 = 770 halved 
 

770 ÷ 2 = 385 
 
 

7. 52 × 5 is the same as: 
 

52 × 10 = 520 halved 
 

520 ÷ 2 = 260 
 

4. 43 × 5 is the same as: 
 
      43 × 10 = 430 halved 
 

430 ÷ 2 = 215 
 
 

8. 94 × 5 is the same as: 
 

94 × 10 = 940 halved 
 

940 ÷ 2 = 470 
 


